BEFAR

ATJOvY 1. 2. 3. IE  ff
1.[/h#k {Z <1079> (Swing!'Swing!) 64 62 1
2.| LB B2 <1408> (BHAIF—3) 46 62 2
3/BT REIA <1067> (Swing!Swing!) 26 26 3
BJOwvYy 1. 2. 3. JIE  {ir
1.|KH BR& <1038 (BN F % FR) 63 75 1
2.(+3A #K <1379> (%—%30) 36 46 3
|INKFE—EBR <1247>  ($Hp—530) 57 64 2
cJavy 1. 2. 3. I ff
1| T # <1115 (Swing!Swing!) 63 36 2
2| KR 1% <1035> (AL EBIRFE AR EPT) 36 46 3
3.|BEE A <1130> (H—530) 63 64 1
DJOvY 1. 2. 3. [ v
1.|EE 84 <1193> (%—330) 60 36 9/15 1
2FHA Fw a4 (AL ERMR IR UL EEFY) 06 61 6/13 2
3.|H L EH <1021> (%—530) 63 16 7/16 3
[—F]
1. IMNFK {Z <1079 (Swing!Swing!)
2. BH # <1193> (H—530)
3. KH B8 <1038> (BJII#&EF)
4. T S <1115>  (Swing'Swing!)
: sl —_ \
1. /IMNFE {2 <1079> AJOyo1{ o
. . " 63
2. T S <1115> cyovy2{i B
3EE B <1417> DIOwh2f - 61
4 KE B 038> BIOVHIfE 64 ik
5. BE A4 <1130>  COOwh1fE : 75
BE
6. L% Ea <1408> AT OyH24E 62 -
7. )\KRF—H8<1247> BI7AwvH2{i - 62
E5
8. FEEF #A4: <1193>  DIFAwH1 63




E¥Bi#

- FE & <1037>
CRB BN 1374

AE R KREZIE <1375>
SH EE <1446>
.BE ¥ <1459
.= BN 13T

- Wi FZ5h <1255>

.S HE ME<1402>

AJOvH 1. 2. 3. IE  ff
|=E EN <131 (HAZIF—3) 62 57 2
1RaIl E=E <1016 (%H—530) 26 26 3
|FE & <1037> BINTF=XHE 75 62 1
BJOwvY 1. 2. 3. JIE  {ir
A#TE BABA <1340> (Avantage) 26 36 3
15HE EB 446> (HRT=RHE 62 63 1
JIligs f&EA <1255>  (H—330) 63 36 2
cJovyy 1. 2. 3. I ff
BHE T <1459 (BHAZIF—5) 61 61 1
=5 i <1028> BITF=RBE 16 36 3
B BA 1378 (BHAZIF—3) 16 63 2
DJOvY 1. 2 3. [ v
|ZH M <1402> (TJL/SYINTC) 61 46 10/17 1
JE@ EFth <1414>  BEHER) 16 63 7/16 3
ERKEEZ1E <1375> (HAIF—5) 64 36 9/19 2
[&—F]

1. & BN 137> (HAZIF—3)
2. =HH M <1402> (TJL/NYINTC)
3. #t@ 35ABA <1340> (TP.JOY)

4. BE T <1459> (HAZIF—3)

REE—F A b

AT Ovo 14
CcrRAvy2fL
DI RAvY24L
B7OvY 14
CTRvI14L
AJOvy241
BIAvY2{1

D7 Ovo 14

A8
60
ERK
64
ERK
63
EES
62
BE
60
BE
61
=
62




BFCik

AJOwvY 1. 2. 3. IE {5
1.8k Bl <1430> (ZPAIVTA) 46 63 2
2.[KA & <KREH (BHAZIF—3) 64 60 1
ERKHE <1095>  (RILTC) 36 06 3
BJOwvY 1. 2. 3. JIE  {ir
1LIBE &E& <1453 (FA-5IL—7) 64 61 1
2. (MR HFIHA <1109> (H—330) 46 62 2
3|1 kT <1462> (TUHIL) 16 26 3
cJowvh 1. 2. 3. IE {5
1.|#8AK IEBE <1334> (T)L7NwINTC) 63 64 1
2|54 K <1461> (-——) 36 36 3
3.[th&E E£%H <1450> (74T IL—7) 46 63 2
D7 Owvs 1. 2. 3. B fF
1.|BE £3} <k&B8> LEHBREREALEM) 26 | 60(WO) 2
2.(TEL Ba%k <1287> GENITEER 3 E:6513519) 62 60(WO0) 1
3. FHE R <RZEER> (FRENIER) 06 (WO) [ 06 (WO) 3
[&—F]
7oL
: sjr —_— s
REER—F AR
1. KA & <EKED AJOyo14L .
BMHA
2. A 8§ <1450> CIOws2f RET ap
3. HE £3 GREH> DIOvs2f an 64
4. BB RE <1453> B7OvyY14L 60 ea
-
5. FA IERE<1334> cIOwhifa - 76(5)
— > “ ‘I_ 62
6. {£i% M <1430> AJOvY241 e
e 3 O Vi 62
7. MR HEA <1109> BI7AwH24i s
8. Tt BAK <1287> DIOvH1E 61




BF45E0.E

AJOwvY 1. 2. 3. IE {5
|YERT BRBH <1210 (Swing!Swing!) 63 62 1
JFEAZER <1189>  (BJIBERERE) 36 64 2
|ER BE<1123> € SEINE-H) 26 46 3
B2 OwvwY 1. 2. 3. & {1
JhE & <107 (L EFTS) 36 26 3
J9ELL BE{E <1080> (RRE—X13) 63 36 2
& F X <1526> (ERA4YILTC) 62 63 1
: sl —_— s
1. YEBT EXEA <1210> AJOyo14L 2T
= N - 61
2. BRI &AE <1080> BI7OwY241 o
3. EEAR=E <1189> ATOvH26: - 76(2)
4 S Rk 526> BIOWHIE 63




— ez ¥

. SHEFEF <2209

) ==
I
.k
. 5H
. HW

=F <2139
EFE Q197
R#t <2033>
SER <2304>

£ <2002

1. SEFEF <2209> (TP.JOY)
2. F1U FEFE <2002> (£H)

REBE—F A b

AJOyo1{

cyovyy24

B7AvY241

B7OvyY 141

AJOvy 241

cavH14L

=H
F 60
63
Ll
61 £
64

=
=

61

AJOvs 1. 2. 3. 4. IE_ i
|EEFEF <2209>  (TP.JOY) 61 60 |60(RET)| 1
|EHE EF Q2304  (HAT=RHE 16 62 | 76(4) 2
1B Bk <2308>  (clover) 06 26 06 4
1B EE <2012>  (clover) 06 (RET)| 67(4) 60 3

BZOvY 1. 2. 3. g s
|FN EFE <2197> (AdDGarden) 63 16 2

fEmkE BE <2323> (RELSTC) 36 16 3
JEW K# <2033>  (TP.JOY) 61 61 1

cJovs 1. 2. 3. IE__ i
|FW EFE <2002> (®FHD 60 61 1
|FEAHESE <2045>  (KRIKTC) 06 26 3
|HE =F<2139>  (KRIETC) 16 62 2

[&—F]




